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MBA (EX)

The length of a rope by which a horse must be tethered so that it may be allowed- to
graze overan arca of 784 square meters is )
{(A) 18.21Im (B) 13.68m (Cy 158m (D) 223lin

A man pays off 3/20 of his debt every month, Al the end of 6 months, his remaining debt
is Rs.290, How much amount has he cleared off in every month?
(A} Rs.420 (B)  Rs. 435 (C)  Rs.450 (D} Rs. 500

Divide 27 into two paris so that 5 times the first and eleven times the second are together
equal to 195,

(A} 17:10 (B) 189 () 15:12 (D) 1413

The difference between compound interest and simple intersst on Rs. 500 for 3 years af
5% per annum 15
(A) Rs4.l8 {B} Rs 381 {C) Rs. 1.10 (D) K. 3.20

The price of an article has been reduced by 25%. In order to restore the original price the
new price must be increased by
(A) 3333% (B) 25.0F% (Cy 12.50% (D) 22.75%

Twao traing approach each other at 30 km an hour and 27 km an hour from two places 285
kmi aparl. When will they meet?

(A) AfterShours (B)  Afier 8 hours (C)  After 10 hours (I2)  Adter 2 hours

A sum of money is to be divided among P, Q and R in the ratio of 2:3:5 wespectively. If
the total shares of P and Q together is Rs. 406 more than ). what is RS share in it?
(A} Rs. 500 (B)  Rs. 400 (C) Rs, 1,000 (D) Rs. 1500

Rahul credits 15% of his salary in his fixed deposit account and spends 30% of the
remaining amount on groceries. If the cash in hand is Bs. 2380, what 15 hs salary™
(A) 4000 (B) 2500 (C) 5000 (D) 4500

Find the cost of sinking a tube well 112 meters deep at Rs. 50 per cubic meter if the
radius of the pipe to be sunk is 40 cm.

(A) Rs.2500 (B) Rs.2816 (C) Rs 2800 (D) Rs 3000

Find the number whose seventh part multiplied by its eleventh part gives 1,232,
(A) 400 (B) 308 (C) 315 (D) 425

The ratio between two numbers is 12:13, If each number is reduced by 20, the ratio
becomes 2:3. Find the numbers,

(A) 24,26 (B) 12,13 (C) 36,39 (D) 48,52

In a Factory the ratio of male workers to female workers was 5: 3. If the number of female
workers was less by 40, what was the total number of workers in the fm:lnﬁ"-i
(A) 120} (B) 160 (Cy 180 () 150

The inner circumference of a circular garden is 88 m. If 14 m wide path is around it, then
the radius of the outer circle is
(A) 20m (B) 28m (Cy 30m () 40m



Directions for Question 14-17, Answer the question based on given data,

The table given below given the unit cost of transportation of maienal with respect o
three products A, B and T manufactured by POR Limited to five siores 81, 52, 83, 54 and
53, The production figures of the three producis A, B and C are 300 wnits, 1500 units and
1054) units respectively.,

7 . i
Product g1 52 | =3 S84 85
A 300 g 0.6 144 12 3
B 1500 I8 19.2 18 16.5 24
C 1050 10.8 9 12 | 96 66 |

14, What 15 the total cost of transportation of all wnits of all products 1o 517
(A) Rs.41,278 (B) Rs. 41040 (C) [Rs. 41274 (D) Rs. 41,742

15, If 45 units each of A are transported to each of the warchouses, What is the average uni
cost of transporation?
(A) Rs.l570 (B) Rs1510 () Rs1530 (D} Rs. 1020

16. Which of the following would involve the least cost?

{A) Transporting 300 units of B to 54 (B)  Transporting 300 units of C 10 82
(C) Transporting 200 units of B to 51 (D} Transporting 400 units of C o 85

17. By what percentage 15 the production of B is more than that of A
(A) 80% (B) 5% ()  300% (D)  400%

Directions for Questions 18 to 21. Study the following table carefully and answer the
questions given below:

LLRIEIE | L AR [ wpr LLRaRIT L o L RAR L) ) A RN L L
Years 2000 (2001 [2002 [2003 [2004 [2005 (2006 [2007 |
| Scooters 18500 | 24200 | 16000 | 12600 | 9600 | 14800 | 17600 | 19400
| Motwreyeles | 14600 | 18200 | 25400 | 18800 | 11200 | 16200 | 24200 | 28600

18. In which of the following years was the tolal number of scooters and motorcycles
manufactured minimum?
(A) 2000 (B) 2002 (€) 2003 (D) 2004

19. In which of the following years was the ratio of the number of scooters manufactured to
number of motoreyeles manufactured maximom among, the given vears?
(A 203 (B) 2004 (<) 2007 () 2001

20. In which of the following vears was the number of scooters manufactured close to 50%
of the total number of motoreycles manufaciured in 2003 and 2007 1ogether
(A) 2003 (B) 2005 (C) 2001 (D) 2000

(<)




21, Approximately what was the percentage increase in the number of scooters manufaciured
from 2000 to 20017
(A) 40 (B) 60 (Cy 30 (B)y 20

Answer guestion namber 22-25 from the following table giving information aboul sales
in units of three companies

Year | A—Limited | B- Limited | C— Limited
1990 15800 12780 8401
1991 | 16400 | 13230 | 840
1992 17800 13560 B0
1993 18200 | 13930 | 1280
1994 20500 15060 1280
1995 22000 17000 1250
1996 24000 1 84001 1250
1997 6000 | 19760 1280
1998 30400 200K} 1600
1999 | 33400 | 20900 | 1600 _
2000 AB000 220000 164060
22, The two years in which additional sales were generated in C Limited.
(A} 1990 and 1991 (B) 1993 and 1993
(C) 1993 and 1996 (D) 1990 and 2000

23. The year in which percentage increase in sales of all the companies taken together over
that of the previous year was the maximum was
(A) 1991 (B) 1497 (C) 1999 (D) 1998

I4.In 2000, the percentage of C limited in total sales of the three companies was
approximately
(A 259 (By 100 (Cy S0.42 D} 1.1

15, IFwe add up 405 of sales of A Limited, 50% of sales of B Limited and of 90% sales of C
Limited in 2000, the answer will be
(A) 27640 (B) 19835 (C) 50150 Dy 22100

26, From 1 to 100, how many numbers are divisible by 4 and also have 4 as a digit in them?
(A) 4 (B) 7 € 20 (D) 21

27. In a parking lot, 36 vehicles are parked in a single row. After the [irst car, there is one
soooter. After the second car, there are Iwo scooters. After the third car, there are three
scooters ind so on. Find oul the number of scooters in the second half of the row,

(A} 10 (B) 12 (Cy 15 Dy 17

2B. Priva is counting down numbers from 32 Sheena is counting upwards numbers siaring
from 1 and she is calling out only odd numbers. Both are calling numbers at same speed.
Which common number will they call out at the same time?
Ay 19 (By 23
)y 21 (D)  They will not call out same number

(5]



29. A. B and C can complete a piece of work in 20, 30 and 60 days respectively. In how
many days, can A complete the work if he is assisted by B and C on every third day?

(A 12 (B} 15 {c) 16 (1) 18
30, Which of the following [ractions is greater than % and less than E'.'
A 3 (B) 2 © : ® 3
31 In 100 metre race, Amit covers the distance in 36 seconds and Varun in 45 seconds. In
this race, Amit beats Varun by metre.
(A) 20 (B)y 23 ) Z25 D) 9

32, The incomes of two persons Jai and Veera are in the ratio 3: 4. If each saves Rs 500 per
month, the ratio of their expenditures is 1: 2. Find out the income of Jai.
{A) Rs, 500 (B) Rs. 750 (C) Rs 150 (D)  Rs 250

33, Mr. Vivek Kumar took loan from & bank at the rate of 12% p.a, simple interest. Afier 5
years, he had to pay Rs. 9000 interest anly for the period. The principal amounit borrowed
by him was 4
(A)  Rs. 50000 (B) Rs. 10000 (C) Rs. 15000 (D)  Rs 25000

M, If 2 1ables and 3 chairs cost R, 3500 and 3 tables and 2 chairs cost Ks, 4000, then how
much does a table cost?
(A) Rs. 500 (B) Rs. 1000 (C) Rs 1500 (D) Rs. 2000

A5, A man invested R=. 4455 in Rs. 10 shares quuh:d sl Re. 825 If the rate of dividend is
11%, his annual moome from these shares 15 Rs, -
(A) Fs. 490,05 (B} Rs. 504 () R, 594 (¥} Rs 4453

36. An cmployee may claim Rs. 7.00 for each km when he travels by taxi and Rs. 6.00 for
each km if he drives his own car. In one week, he claimed Rs. 550 for travelling 90 km.
How many kms did he travel by own car?

(A) 80 (B) 10 (C) 45 (D) 55

37. Which smallest number should be added o 460 so that the sum is completely divisable by 67
(A) 4 (B) 3 Q) 2 (M 1

38, Find out the missing number in the following:
2,4, 12,48, 240, {....)

(A 1080 (B)y 960 (€) 1920 (D) 1440

39, Anish begun a business with Rs., 85,000, Afier few months, he was joined by Dinesh with
Rs. 42,500, Anthe end of the year, the profits arc divided in the ratio of 3: L. For how
much period does Dinesh join?

[A) 4 months (B) o6 months (C) 8 months (D) l0months

40. If the price of a book 15 first decreased by 25% and then increased by 20%, then the net
percentage change in the price will be
{A) 5 (B) 10 &y 18 (D) Nil

(<}




41, The present age of Sheena is two-fifth of the age of her mother. Afier 8 years, she will be
one-half of the age of her mother, How old is the mother al present?
(A) 36 years (B) 38 years (C) 40 years (D) 42 years

d42. If the cost price of 12 pens is equal to the selling price of 8 pens. what is the percentage
of gain?
(A) o0 (By 34 (Cy 25 (D) 11

43, A watch gains 5 seconds in every 3 minutes and it is set right at 8 AM. Whal tme will it
show atl 10 PM on the same day?
(A)  10:27:41PM (B) B:51:04 AM
(C)y 9:45:15PM (Dy 10:23:20PM

44, If the 14th September of a year is a Tuesday, then 17" October of the same vear will be a

(A) Sundaj.'l (B) Monday (C) Thursday {I})  Saturday

45, For a cricket player, the average run rate of 10 innings was 32. How many runs must he
mike in his next inning o as w0 increase his average run rate by 47
(A) 87 (By &5 (Cy 7 () 76

46. Determine the following: 0002705 =
(A)  0.0001 (B)  0.001 (C} 0.01 (D) 0.1

47, There are deer and peacocks in a zoo. By counting heads, they are 80. The number of
their legs is 200, How many peacocks are there?
(A) 20 (B) 30 (C) 5u (D) ol

48. A businessman earns an income of Re. | on the first day of his business, On every
subsequent day, he earns an income which is just double of income made on the previous
day. On the 11" day of business, his income is Rs, :

Ay 2 (gy 2 {cy 20 oy 1w

49, The number of boys in a class 18 double the number of giris. Which one of the following
numbers cannot represent the total number of students in the class?

(&) 36 (B) 48 (C) 40 (D) 33

Ak In a group of 15 people. 7 read French, 8 regd English while 3 of them read none of these
two. How many of them read French and English both?

(A) D (B 3 ) 4 (D) 5

3L A, B, C, D and E play a game of cards. A says o B, "If you give me three cards, you will
have as many as E has and if [ give you three cards, you will have as many as D has.” A
and B together have 10 cards more than what D and E together have. If B has two cards
more than what C has and the otal number of cards be 133, how many cards docs B
have?
A) 2 (B) 23 (Cy 24 D}y 25

(5)



al. A certion number of horses and an equal number of men are going somewhere. Hall of
the owners are on their horses’ back while the remaining ones are walking along leading
their horses. If the number of legs walking on the ground is 70, how many horses are
there?
(A) 1l (By 12 (C) 13 (o) 14

53, 2,5.9.7.20.27, what will replace the question mark ?
{A) 12 (B [3 £} 14 (I 15

54.1,2,3,6,9 18,7 54
(A) 28 (By 27 )y 24 (D) 30

35. Complete the series 22,5, 13,28,
{A) 56 (B)y 57 (C) 52 (I3 355

56. Pointing to a person, & man said to 8 woman, "His mother is the only daughter of your
futher." How was the woman related to the person?
(A)  Aumt (B)  Mother (Cy Wife (D) Daughter

57 In a family, there are six members A, B, C, D, E and F. A and B are a marmricd couple, A
being the male member, D is the only son of C, who is the brother of A_ E is the sister of
D. B is the daughter-in-law of F, whose husband has died. How is E related to C7
(A)  Sister (B)  Daughter (Cy Cousin (D]  Mother

SH. Pointing out 10 a lady, & girl said, "She is the daughter-in-law of the grondmother of my
father’s only son." How is the lady related to the girl?
(A) Sister-in-law (B}  Mother (Cy  Aunt (D1 Can't be determin

59. Rasik walked 20 m towards north, Then he turned right and walks 30 m. Then he turns
right and walks 35 m. Then he tums left and walks 15 m. Finally he wrns lefi and walks
15 m. In which direction and how many metres is he from the starting position?
(A) 15mWest (B) 30 m East (C) 30mWest (D) 45 mEast

i), Choose the word which is least like the others word in & group?
{A) Day (By Calendar (C)y Date (D} Month

61. How many 4' are there preceded by 7 but not followed by 3 7
59321742697461328741383256743958201 8
7463
{A) Four (BY Thres (C) Six () Five

62. How many such digits are there in the number 7346285 which are as for away from the
beginning of the number, as they will be when armanged in ascending order within the
number?

(A) 1 (B) 2 cy 3 (D) 4

63, Three persons A, B and C are standing in & quewe. There are five persons between A and
B and eight persons between B and C. If there be three persons ghead of C and 21
persems behind A, what could be the munimum number of persons in the quewe?

(A) 41 (B} 40 (C) 28 ) 27

(&)




6. In & cenain code language,
134" means 'good and tasty’
4T8 ' means ‘see pood pictures' and
TIV means pictures are fainl’.
Which of the following digits stands for 'zee'?

(A) 4 | 2 <y 1 (D) &
65, If = 2197 and R= 729, How would ] be written in thai code?
(A) 216 (B) 124 (C) 512 (D) 125

b6. In a certain code PARINATH 15 wrilien a5 QFOHOBSG and POLE as QOPKD, how will
SYNDROME be written in that code?
(A) RXOEQNNF (B} TZOEQNLD (Cy TZMCSPKD (D) TZMCSPL

67. Lethargic : Vital :: Trite : 7
{A)  Unique (B) Slug (C} Laey (D)  Skinny

68. Armrange the following in a logical order :
1. Euphoria 2. Happiness 3. Ambivalence 4. Ecstasy 5. Pleasure
Ay 1,4,2,5,3 (B L L345 (00 32514 (D) 4,1,3,25

69. Choose Odd one out of the options ?
(A) PSRO (B} SVUT (C}  MNPO (D) KNML

T0. How many times in a day, are the hands of a clock in straight line but opposite in
direction?
(A) 18 B) 22 (C) 26 By 28

T1. Consider the statement true: “There are books in each library,” Which of the following
statemenis is definitely true?
(A)  Books are only in the libraries (B) None of a library is without books
(C)  There are no readers in some libraries (D) Libraries are for books only

T2, In a class of 180, where girls are twice the number of boys, Rupesh [a boy| ranked 34th
from the top. If there are 18 girls ahead of Rupesh, how manry boys are after him in rank?
(A) 45 (B) 44 (C) 60 {D}y  Can't be determined

T3, Among five friends who is the tallese? (T) D is taller than A and C. (11) B is shorter than E
bul taller than [,

{A)IE the dats in statement | alone are sufficient to answer the question
(B} If the data in statement [1 alone are sufficient answer the question
{C) If the data either in 1 or 11 alone are sufficient (o answer the question
(D)} If the data in both the statements together are needed

T4, Five plays K, L, M, N and O are 10 be staged from Monday to Friday of a week. On each
day, only one play will be staged. N or O should not be either the first or last to be staged.
0 should be immediately followed by M. L should be staged immediately afier N, One
play is staged between K and L. Which is the second play to be staged?
(A} L B O © M Dy N

(7)




73. Today is Varun's binthday, One vear, from today he will be twice as old as he was
12 years ago. How old is Varan woday?
{A) 20 years (B) 22 years (C) 27 years (DY 25 years

In each of the following sentences (from 76-78) there are blank space/s. Find out
which word or pair of words can be filled up in the blanks in the sentence in the
sume sequence 0 make it grammatically correct.

76. If the wind in a ropical depression exceeds this speed, itis 1o a “wropical storm” and
4 personal name.

{(A) demoied, awarded (B) consigned, gified
(C)  vpgraded, assigned (D) elevated, presented
77. There was no agresment the great powers a trealy Lo ban weapons.
(A)  between, about {(B) among, on
(C) in, for (D)  with, about

78. I would like to your atteniion o the last paragraph of my essay _
to the terms of sale of the goods.

{A)  consider, according {(B)  draw, peraining
(C}  attract, regarding (D}  haul, mainly.
FIND THE RIGHT SUFFIX
79, Long
(A) 1In (B}y FEr (C) En Dy  Or
80. Child
(A 1 By Ie (C) Tion {D} Like
81. Without the advice of a doctor medicines is dangerous.
(A) laking (B} 1o takes (C) takes (D} 18 taking

82, When the Principal entered the class, a student on the blackboard.
(A)  wrote (B) waswriting ()  writes (D) s writing

B3, He was sent to the prison for his .
(A) sin (B) vice {C) crime (y  guilt
Read the following passage and answer Q. No, §4-86,
“Uncle” said Luke to the old Sean “You seem to be well fed, though | know no one looks

after you. Nor have | seen you leave your residence at any time. Tell me how you manage
i

“Because”™ Sean replied, “1 have a good feed every night at Emperor’s orchard, After
dark. I go there myself and pick out encugh fruits to last a formight.”

{8)



Luke proposed o accompany his uncle io the orchard. Though reluciant because of
Luke’s habit of euphoric exhibition of extreme excitement, Sean agreed to take him
slong. At the orchard while Sean hurriedly collected the fruits and left, Luke on the other
kand at the sight of unlimited supply of fruits was excited and lified his voice which
brought Emperor’s men immediately to his side. They seized him and mistook him as the
sole couse of damage (o the orchard. Although Luke reiterated that he was a bird of
passage, they pounded him mercilessly before setting him free.

B4, What does “bird of passage™: mean in the context of the given passage?
{A)  There was a bird in the orchard (BY  Other people stole from the orchard
(C)  Emperor knew him personally (D)  He did not visit orchard regularly

85, Which of the following can be inferred from the passage?
(A) Luke did not take good care of his uncle
(B) Emperor was a wicked man
{C) Lack of self~control had pul Luke into trouble
(D) Luke had a habit of speaking loudly

§6. How often did Sean visit the orchard?
(A) Daily (B) Weekly
({C) Once in a month (D)  Every day after midnight

Read following passage and answer (). No, §7-89

A man is known by the book he reads as well as by the company he keeps; for there is &
companionship of books as well as of men and one should always live in the best
company, whether it be of books or of men.

A good book may be among the best of friends. Tt is the same today that it always was,
and it will never change. It is the most patient and cheerful of companions. It does not
tum its back upon in times of advemsity or distress. It always receives us with the same
kindness: amusing and interesting us in youth, comforting and consoling us in age.

B7. According to the passage, which of the following siatements is not true?
(A) Good books as well a5 good men always provide the finest company
(B) A good book never betrys us
{C}) We have sometimes (o be patient with a book as it may bore us
(D) A pood book serves 4s s permanent friend

88. The statement, “a good beok may be among best of friends,”” in the passage means that
{A)  There cannot be & bester friend thin 2 good book
{B) Books may be good friends, but not better than good men
(C) A good book can be included amcng the best of friends of mankind
(D)  Our best friends read the same good books
(9%



89. According to the passage, A man may usually be known by the books he reads because
(A)  His reading habits shows that he is a scholar.
(B)  The books he reads affect his thinking
() Books provide him a lot of knowledge
(D)  His selection of books generally reveals his temperament and character

Given below are sentences which have been presented in a random order. Arrange
the following sentences in a proper sequence to form a meaningful paragraph and
identify the correct sequence. (. No. 90-92)

90. A. This is becsuse your witness will be called upon to testify in coun if the will is ever
challenged.
B. Lawyers advise people 1o use witnesses who are younger than they and are likely 1o
outlive them.
. You can make a will as simple as you want. You will need to sign the document in the
presence of two witnesses, who will then have o put the signature on it
D. It helps if a doctor s a witness or the document is signed in his presence,
E. This is because he could be called upon to testify to the stability of your mental
condition when you drew up the will.

(A) ABCDE (B) CBADE (C) DCBAE (D) CDBAE

91. A. In India, in the last 4 - 5 years, some US funds have entered,

B, US funds like draper and Walden have played an important role in kick-starting the
venture capital industry in India,

. Draper in particular plaved & pioneering role,

D, This was the second wave of venture capital.

E. The third wave is people coming hack from the US and moving into venture capital -
like myself,

F. Venture capital started about 15 years ago, with some government — backed funds.

{A) BFACDE (B) FDABEC (C) FABCDE (D) CDBAEF

92. A. Living is not important - living with excellent bealth throughout is more meaningful,
B. It is non - invasive and wilthout side - effects.
L. But the quality of life of such persons may not be as good as one would like it 1o be.
D. Exercise, yogic exercise, is the only tool that can maintain health in a cellular sense.
E. However, practice of asana and pranayama needs what modemn thought calls
molivition.
F. Many people do not exercise @nd yet live to a ripe old age.

(A) EADBC (B) CFEDBA {C) AFCDBE (D} FDABCE

Read each sentence given below and find out whether there is an error in il The
error, if any will be one of the paris of the séntence which are morked as 1,23 and 4,
{Ignore the errors of punctuation, if any).(Q). No. 93-96)

93. Ankit prefers (1) / self-employment {2} / (0 job {3)/ in any office. (4)
(A 1 B 2 () 3 =) 4

(1)



94, He is nod (1) / rich so he (2) / cannot afford 1o buy (3) / a expensive house. (4)
(A) 1 By 2 (C) 3 (D) 4

93. Rajasthan Canal (1) fwill be the (2) / longest canal (3) / in India. (4)
(A} 1 (B) 2 <y 3 (D) 4

Choose the word most nearly opposite to the given word. ((). No. 96-97)
. Insidious

(A}  Repellam {B) Honest (Cy Charming (D) Delicious
97. Perilous
() Disciplined (B)  Similar (C)  Safe (D) Honest

In each of the following questions, choose the correct alternative. (0. No, 98-100)
98. Pulp : Paper :;; Hemp : 7

(A) Rope (B) Yam (C)  Baskel (DY  Cotton
9. Milk : Emulsion ;; Butter : 7

(A)  Acrosol {B) Suspension (C) 3ol Dy Gel
100, Jade is related to Green as Garnet is related to 7

{A) Blue (B) Red (C)  Orange (D) Yellow

Bt
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